A= SSi=ER SM st a=4HR =)
ZM: Sl AR 22l & =4
OISl AIEOITRAIE U FA 22 (crop:mel)
A2 2N - BB O9(E) - HISAY - BES il v ol H o HlDE2
Stoll & = AHXHRIMIE] 2,735,954 2,615,954 120,000
= 23,000 23,000 0
= 2,712,954 2,592,954 120,000
Stold =4HAHA 22 2 =4 1,060,330 940,330 120,000
= 23,000 23,000 0
= 1,037,330 917,330 120,000
AEHTAIE & EHAF 22 566,800 446,800 120,000
S AARS 50,000 0 50,000
401 AlIEHIZL 2 0HY| 50,000 0 50,000
01 AIZHI 50,000 0 50,000
OGS UHZAl L3 At 50,000 0 50,000
SAHAL MAZTZAE 2F 70,000 0 70,000
401 AIEHIZL R OHYI 70,000 0 70,000
01 AlZHI 70,000 0 70,000
O AAET HX| 70,000 0 70,000




